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1) The vertical asymptote of f (¥ )=————is
X —x =2

la] x =-1,2 ]y =-12 lc]lx =21 ld] y =-2.1

2) The function f (X ) =vx > 25 is continuous on
d [-55]  Bl(55) El(=o-5)U(E) (=0, -5]U[5.0)

3) Iy =2 then y'=
lal -2 ese*x ln2 [p] 25 csc”x ~2%1n2 27 ¢sc’x In2

: : 1-x
4) The tangent line equation to the curve of f(x)= 5
X +

@y=—x+2 @y=—x y=x+2 y=2x+3

at the point (—1,1) is

syt xy+y —x>=0,theny’=

] 3x% -y b] 3x% -y

x -2y X +2y
3x%+y 3x%+y
_ dl -
X =2y x+2y.

6) It y =log,(x>—5),then y' =
2

3x? 3x? 1
g B B Oy

(x3—5)1n7 -5 X —5)m7

7) If y =tan’(7x ), then y'=
a] 7tan®(7x )sec®(7x ) [p]—21tan® (7x )sec®(7x )

3tan”(7x )sec® (7x ) 21tan®(7x )sec?(7x )

8) The function f (x )=5x Y 43x s

Even @ Odd Even and odd Neither even nor odd

x +5
9) Find the domain of the functionf (¥ )=

[a] (~w0,0) b] R\{-2,1}
R\{-1,2}  [d]R\(-12)

x?-x-2

10)1ff(x)=9—x2,and g(x)=10, then (f og)x)=
d-91 [E9-0-x2 []10 51— x>




m Inx
11) x -1 z_x __2—

1
e = = ]2 ] 2 ld]=

2 p

12) im————

X
0 Jx +4-2
1
@_Z b] -4 ]~ dal4

13) D®(cosx)=

@ sinx @ coSXx — sinx — COSX

14)If y =+/3x > —secx ,then y'=

6x —secx tanx 6x —secx tanx

\/3—; +secx 2\/3:2 —secx

6x +secx tanx d 6x +secx tanx

\[3x 2 _secx Z\gx Z +secx

15) lim_m

@ 1 ~1 does not exist 0

16)If x =sin”’ (%) and 0 <X <—7—2T-,then tanx =
2‘/5 _____

[a] 242 [12]-2—1\5 S

17If y :csc'l(x3),then y'=
3

a2 .

lx\/x — @ xx’ =1
3

77 | T

. x\/x — x\/xs—l

18)If y =x’e™" then y'=
la] xe™ (3x +2) 6] —xe™ (3x +2)
xe ™™ (2-3x) xe™ (3x -2)

5
19) 6

la] 120° [p]150° 270° ld] 210°

= fad =




1. X _8Jb +15
20) 505y 24 dx —21

1
@ does not exist @ 5 = @ w3

5
21) log, 9 —log, 27+10g3I=
@i Bl Eo @
-2
dre-— Blre==
x =2 1—x
. 2 o 2
/ 1(x)=-1—-— ld]f ) =-
+ X —X
23) lim 3x +1

x> Ox ? + 4x —13

1
[a] 0 [p] - o el > ld] o

6o
24 5=

la] » b6 ] —w la]o

25) The equation of the line passes through (8,—5) and (4, —3) is

@y =-2x+5 ply=- %—1 ]y =-2x+11 [dy=- -’-;—+1

26)If y =x* then y' =

[ x*[1+mmx] [o] 4[1+Inx] e]1+1nx [a] 4x * [1+1nx]

. 1
27) lim =
x—=7T X —7

la] 0 p] 1 [e] - o0 [d] 0

28) The number(s) ¢ in (—2, O) which make the function f (X )=x 3 _4x +2
satisfy Rolle's Theorem on [—2,0] is (are)

4

'29) The solution of the inequality \x — 3! <5Sis

d(2.8) B][-2.8] [c] (=0, -21U[8,0) [d] (~0,=2)U(8,0)




ex?+2x x £2 . , _
30) The value ¢ that makes [ (x )= : is continuous at 2 is
x’—cx  x>2

2 2 3
-2 B2 Eo @2

31) The critical numbers of the function f(x)=2x>-3x ?—12x +2 are

la] 1,2 [6]-2.1 lc]-2.-1 ld]-1,2

32) The fanction f (x ) = 2x 3_3x2-12x +2 isdecreasing on

(12 Bl (2 ke [

33) The function f (x ) =2x 3 _3x?-12x +2 isincreasing on

(=0,2)U(L) [B] (o -)U(2.0) [e] (=e)U(20) [d] (-0-2)U (1)

34) The function f (x ) = 2x 3_3x2-12x +2 has arelative maximum point at

lal -1y [B] <19 -2,2) ld] 2,-18)

35) The function f (x ) = 2x 3 _3%%-12x +2 has arelative minimum point at

lda-1y o] 19 (-2,-2) (2,-18)

36) The graph of f (x )=2x 3 _3x%—12x +2 concave upward on

I I N S F R N A ()

37) The graph of f (x )= 2x> —3x 2 _-12x +2 concave downward on

oy Bl  fdeno  ldoe

38) The function f (x )=2x° —3x 2_12x +2 has an inflection point at

do.n Bl e %) “4%.7)

39) The absolute maximum value of the function fx)=2x 3_3x2-12x +2 on
[0,2] is

la] 18 ] -1 2 ld] o

40) The absolute minimum value of the function f(x)=2x>-3x 2_12x +2 on
[0,2] is "

la] 18 ] -11 2 ld] o




